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QUESTION 1

A company wants to implement a policy where all passwords should be encrypted while transiting the network. 

Where in the GUI would the network engineer prevent access to unsecured management protocols? 

A. Network -> IPs 

B. System -> Auditing 

C. AppExpert -> Pattern Sets 

D. Protection Features -> Filter 

Correct Answer: A 

 

QUESTION 2

Scenario: A network engineer monitoring an HTTP service-related issue needs to view only the relevant data pertaining
to the service being monitored. The IP address of the back-end service being monitored is 

10.10.1.99. The NSIP address is 10.10.1.230. 

Which command should the engineer execute to monitor data relevant to this issue only in real time? 

A. telnet 

B. traceroute 

C. nsconmsg 

D. nstcpdump 

Correct Answer: D 

 

QUESTION 3

Scenario: GSLB has been configured for use within a multisite environment. The MEP status is reported as down on all
GSLB appliances. The appliances have been configured for unsecured MEP exchange. 

Which port must the network engineer ensure is open between the NetScaler appliances? 

A. TCP 3011 

B. UDP 3011 

C. TCP 3012 

D. UDP 3012 

Correct Answer: A 
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QUESTION 4

A network engineer needs to prevent too many simultaneous HTTP requests that can cause a Denial Of Service
(DDoS). What could the engineer enable to prevent too many simultaneous HTTP requests? 

A. Rate Limiting 

B. SureConnect 

C. Priority Queuing 

D. Authorization Policy 

Correct Answer: A 

 

QUESTION 5

Which command must an engineer use to run a cluster with less than (n/2+1) number nodes online? 

A. add cluster -quorumType Majority 

B. add cluster instance -quorum None 

C. add cluster instance -quorumType None 

D. add cluster instance -quorumType Majority 

Correct Answer: C 
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